

On $(N, p_n, q_n)(C, \alpha, \beta)$ Product Summability of Fourier Series

Aditya Kumar Raghuvanshi

Department of Mathematics
 IFTM University, Moradabad, U.P., India, 244001
 dr.adityaraghuvanshi@gmail.com

Abstract: In this paper, a theorem on $(N, p_n, q_n)(C, \alpha, \beta)$ product summability of Fourier series has been established.

Keywords: (N, p_n, q_n) -mean, (C, α, β) -mean, $(N, p_n, q_n)(C, \alpha, \beta)$ -product mean and Fourier series.

Mathematical classification: 40B05, 42B08.

1. INTRODUCTION

Let Σa_n be a given infinite series with sequence of its n th partial sums $\{s_n\}$. Let $\{p_n\}$ be a sequences of non-negative, non increasing real constants such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty \text{ as } n \rightarrow \infty. \quad (1.1)$$

For a positive real sequence $q = \{q_n\}$, we define an increasing sequence $\{r_n\}$ such that

$$r_n = (p * q)_n = \sum_{v=0}^n p_{n-v} q_v \rightarrow \infty \text{ as } n \rightarrow \infty \quad (1.2)$$

denotes the convolution product where

$$Q_n = \sum_{v=0}^n q_v, Q_{-i} = q_{-i} = 0, \quad \forall i \geq 1 \quad (1.3)$$

The sequence-to-sequence transformation

$$t_n = \frac{1}{r_n} \sum_{v=0}^n p_{n-v} q_v s_v \quad (1.4)$$

defines the sequence $\{t_n\}$ of the $|N, p_n, q_n|$ -mean of the sequence $\{s_n\}$, (Borwein [2]).

If $t_n \rightarrow s$ as $n \rightarrow \infty$, then the series Σa_n is said to be $|N, p_n, q_n|$ -summable to s .

Again let Σa_n be a given infinite series with partial sum $\{s_n\}$ and $t_n^{\alpha, \beta}$ denotes the n^{th} cesaro mean of order (α, β) with $\alpha + \beta > -1$ of the sequence $\{s_n\}$ such that,

$$t_n^{\alpha, \beta} = \frac{1}{A_n^{\alpha + \beta}} \sum_{v=1}^{\infty} A_{n-v}^{\alpha - 1} s_v \quad (1.5)$$

where $A_n^{\alpha+\beta} = O(n^{\alpha+\beta})$ and $A_0^{\alpha+\beta} = 1$.

If $t_n^{\alpha,\beta} \rightarrow s$ as $n \rightarrow \infty$. Then the series $\sum a_n$ is said to be (C, α, β) summable to s . The product of (N, p_n, q_n) -summability with (C, α, β) -summability defines $(N, p_n, q_n)(C, \alpha, \beta)$ summability and denoted by $N_{pq}C_n^{\alpha,\beta}$ and

$$\text{If } N_{pq}C_n^{\alpha,\beta} = \frac{1}{r_n} \sum_{k=0}^n \frac{p_{n-k} \cdot q_k}{A_k^{\alpha+\beta}} \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^\beta s_v \rightarrow s \text{ as } n \rightarrow \infty \tag{1.6}$$

Then the series $\sum a_n$ is said to be summable to s by $(N, p_n, q_n)(C, \alpha, \beta)$ -summability method.

In the case when $\beta=1$ and $q_n=1 \forall n \in N$, then the method $(N, p_n, q_n)(C, \alpha, \beta)$ reduces to $(N, p_n)(C, \alpha)$ and if $p_n=1 \forall n \in N$ and, $\beta=1$ then the method (N, p_n, q_n) reduces to $(\bar{N}, q_n)(C, \alpha)$ method. it is known (N, p_n, q_n) and (C, α, β) methods are regular (Hardy [3]).

It is suppose that $(N, p_n, q_n)(c, \alpha, \beta)$ is regular throughout this paper.

Let $f(t)$ be a periodic function with period 2π , integrable in the sense of Lebesgue over $(-\pi, \pi)$ then

$$f(t) = \frac{a_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt) = \sum_{n=0}^{\infty} A_n(t) \tag{1.7}$$

Is the Fourier series associated with f .

We use the following notation throughout this paper.

$$\phi(t) = f(x+t) + f(x-t) - 2f(x)$$

$$K_n(t) = \frac{1}{2\pi r_n} \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^\beta \frac{\sin(v + \frac{1}{2})t}{\sin \frac{t}{2}}$$

2. KNOWN RESULT

Dealing with $(N, p_n, q_n)(E, z)$ summability method of a Fourier series, Padhy et al [4] established the following theorem.

Theorem 2.1

Let $\{p_n\}, \{q_n\}$ and $\{r_n\}$ be sequences satisfying (1.2), (1.2) and

$$\phi(t) = \int_0^t |\phi(u)| du = O\left\{\frac{t}{\alpha(1/t)}\right\} \text{ as } t \rightarrow +O \tag{2.1}$$

And $a(n) \rightarrow \infty$ as $n \rightarrow \infty$ (2.2)

where $\alpha(t)$ is positive, non increasing function of t , then the Fourier series $\sum_{n=1}^{\infty} A_n(t)$ is summable $(N, p_n, q_n)(E, Z)$ at the point t .

3. MAIN RESULT

In this paper, we have established a theorem on $(N, p_n, q_n)(C, \alpha, \beta)$ product summability of Fourier series.

Theorem 3.1. Let $\{p_n\}, \{q_n\}$ and $\{r_n\}$ be sequences satisfying (1.1), (1.2) and

$$\phi(t) = \int_0^t |\phi(u)| du = O\left\{\frac{t}{\alpha(1/t)}\right\}, \text{ as } t \rightarrow +O \quad (3.1)$$

$$\text{And } \alpha(n) \rightarrow \infty \text{ as } n \rightarrow \infty \quad (3.2)$$

where $\alpha(t)$ be a positive, non-increasing function of t .

The Fourier series $\sum_{n=0}^{\infty} A_n(t)$ is summable $(N, p_n, q_n)(C, \alpha, \beta)$ at the point t .

4. REQUIRED LEMMA

We have required the following lemmas to prove the theorem.

Lemma 4.1

$$|k_n(t)| = O(n), 0 \leq t \leq \frac{1}{n+1}$$

Proof:

For $0 \leq t \leq \frac{1}{n+1}$, we have (Boose [1])

$$\sin nt \leq n \sin t \text{ and } \sum_{v=0}^n A_{k-v}^{\alpha-1} A_v^{\beta} = A_k^{\alpha+\beta}$$

Then

$$\begin{aligned} |k_n(t)| &\leq \frac{1}{2\pi r_n} \left| \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} \sum_{v=0}^k \frac{A_{k-v}^{\alpha-1} A_v^{\beta} (2v+1) \sin \frac{t}{2}}{\sin \frac{t}{2}} \right| \\ &\leq \frac{1}{2\pi r_n} \left| \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} (2k+1) \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^{\beta} \right| \\ &= \frac{1}{2\pi r_n} \left| \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} (2k+1) A_k^{\alpha+\beta} \right| \\ &= \frac{(2n+1)}{2\pi r_n} |\sum p_{n-k} q_k| \\ &= O(n) \end{aligned}$$

Lemma 4.2

$$|k_n(t)| = O(1/t), \text{ for } 1/n \leq t \leq \pi$$

Proof:

For $\frac{1}{n} \leq t \leq \pi$, we have by Jordan's lemma,

$$\sin(t/2) \geq (t/\pi), \quad \sin nt \leq 1.$$

Then

$$\begin{aligned} |k_n(t)| &\leq \frac{1}{2\pi r_n} \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} \left| \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^\beta \frac{\sin(v + \frac{1}{2})t}{\sin \frac{t}{2}} \right| \\ &\leq \frac{1}{2\pi r_n} \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} \left| \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^\beta \left(\frac{\pi}{t} \right) \right| \\ &= \frac{1}{2\pi r_n} \sum_{k=0}^{\infty} \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} A_k^{\alpha+\beta} \\ &= O(1/t) \end{aligned}$$

5. PROOF OF THE THEOREM

If $s_n(f; x)$ is the n -th partial sum of the Fourier series $\sum_{n=0}^{\infty} A_n(t)$ of $f(t)$ then by using Riemann–Lebesgue theorem, we have (Titchmarch [5]).

$$s_n(f; x) - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin(\frac{t}{2})} dt$$

If $N_{pq} C_n^{\alpha, \beta}$ denote the $(N, p_n, q_n)(C, \alpha, \beta)$ transform of $s_n(f; x)$, we have

$$\begin{aligned} N_{pq} C_n^{\alpha, \beta} - f(x) &= \frac{1}{2\pi r_n} \sum_{k=0}^n \frac{p_{n-k} q_k}{A_k^{\alpha+\beta}} \int_0^\pi \frac{\phi(t)}{\sin(t/2)} \left\{ \sum_{v=0}^k A_{k-v}^{\alpha-1} A_v^\beta \sin(v + \frac{1}{2})t \right\} dt \\ &= \int_0^\pi \phi(t) k_n(t) dt \end{aligned}$$

In order to prove the theorem, it is sufficient to show that

$$\int_0^\pi \phi(t) k_n(t) dt = O(1) \text{ as } n \rightarrow \infty$$

For $0 < \delta < \pi$, we have

$$\begin{aligned} N_{pq} C_n^{\alpha, \beta} - f(x) &= \int_0^\pi \phi(t) k_n(t) dt \\ &= \left(\int_0^{1/n} + \int_{1/n}^\delta + \int_\delta^\pi \right) \phi(t) k_n(t) dt \\ &= I_1 + I_2 + I_3 \quad (\text{say}) \end{aligned}$$

Now

$$|I_1| = \left| \int_0^{1/n} \phi(t) k_n(t) dt \right|$$

$$\begin{aligned} &\leq \int_0^{1/n} |\phi(t)| |k_n(t)| dt \\ &\leq O(n) \left\{ O\left(\frac{1}{n\alpha(n)}\right) \right\} \\ &= O\left(\frac{1}{\alpha(n)}\right) \text{ as } n \rightarrow \infty \\ &= O(1) \text{ as } n \rightarrow \infty \end{aligned}$$

Next

$$\begin{aligned} |I_2| &= \left| \int_{1/n}^{\delta} \phi(t) k_n(t) dt \right| \\ &\leq \int_{1/n}^{\delta} |\phi(t)| |k_n(t)| dt \\ &\leq O \left\{ \int_{1/n}^{\delta} \frac{|\phi(t)|}{t} dt \right\} \\ &- O \left\{ \left[\frac{\Phi(t)}{t} \right]_{1/n}^{\delta} + \int_{1/n}^{\delta} \frac{\Phi(t)}{t^2} dt \right\} \\ &= O \left\{ O \left[\frac{1}{\alpha(1/t)} \right]_{1/n}^{\delta} + \int_{1/\delta}^n O \left(\frac{1}{u\alpha(u)} \right) du \right\} \end{aligned}$$

Where $u = \frac{1}{t}$ and $0 < \delta < 1$

$$= O\left(\frac{1}{\alpha(n)}\right) + O\left(\frac{1}{n\alpha(n)}\right) \int_{1/\delta}^n du$$

Using second mean value theorem for the integral in the 2nd term as $\alpha(n)$ is monotonic

$$= O(1) + O(1), \text{ as } n \rightarrow \infty$$

$$= O(1) \text{ as } n \rightarrow \infty$$

Finally

$$|I_3| \leq \int_{\delta}^{\pi} |\phi(t)| |k_n(t)| dt$$

$$= O(1) \text{ as } n \rightarrow \infty$$

by using Riemann-Lebesgue theorem and the regularity condition of the method of summability.

$$\text{Thus } N_{pq} C_n^{\alpha, \beta} - f(x) = O(1) \text{ as } n \rightarrow \infty$$

This completes the proof of the theorem.

6. CONCLUSION

In this paper a more general result for summability of Fourier series is established which will be enrich the Literature of Fourier series.

ACKNOWLEDGEMENTS

I am very thankful to Dr. B.K. Singh, (Professor and Head of the Dept. of Mathematics, IFTM Uni. Moradabad, U.P., India) whose great inspirations lead me to complete this paper.

REFERENCES

- [1] Boose, J.; Classical and modern methods in summability, Oxford University Press, Oxford (1949).
- [2] Borwein, D.; On product of sequences, Journal of Lon. Math. Soc. 33 (1958).
- [3] Hardy, G.H.; Divergent series, Uni. Press Oxford, (1959).
- [4] Padhy, B.P.; On $(N, p_n q_n)(E, Z)$ product summability of Fourier series, AJCEM Vol-1 Issue 3 (2012).
- [5] Titchmarch, E.C.; The theory of functions, Oxford University Press, Oxford (1939).

AUTHOR'S BIOGRAPHY



Mr. Aditya Kumar Raghuvanshi is presently a research scholar in the deptt Of Mathematics, I F T M University Moradabad (U.P.), India. He has completed his M.Sc.(Maths) and M.A. (Economics) from MJPR University Bareilly (U.P.), B.Ed from C C S University Meerut (U.P.), and he has also completed his M.Phil. (Maths) from The Global Open University Nagaland, India. He has published twenty Research papers in various International Journals. His fields of research are O.R. , Summability and Approximation Theory.